

On the sequence: $a(n) = 4 a(n - 1) - 2 a(n - 2) - 4 a(n - 3) - a(n - 4)$

Edgar Valdebenito

December 17, 2024

ABSTRACT: We provide some formulas related to sequence A026937 in OEIS.

I. Introduction: The sequence A026937 in OEIS

The sequence A026937:

$$a(n) = \{1, 3, 10, 30, 87, 245, 676, 1836, 4925, 13\,079, 34\,446, 90\,090, \dots\} \quad (1)$$

Generating function:

$$G(x) = \frac{1 - x}{(1 - 2x - x^2)^2} \quad (2)$$

Linear recurrence:

$$a(n) = 4 a(n - 1) - 2 a(n - 2) - 4 a(n - 3) - a(n - 4) \quad (3)$$

$$a(0) = 1, a(1) = 3, a(2) = 10, a(3) = 30 \quad (4)$$

Some representations:

$$a(n) = \left(\frac{n+2}{8}\right) \left((\sqrt{2} + 2)(1 + \sqrt{2})^n - (\sqrt{2} - 2)(1 - \sqrt{2})^n \right) \quad (5)$$

$$a(n) = \sum_{k=0}^n (k+1) \sum_{m=0}^k 2^m \binom{k}{m} \binom{n-k}{m} \quad (6)$$

$$a(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} (k+1) 2^k \binom{n+2}{n-2k} \quad (7)$$

$$a(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} \sum_{m=0}^{n-k} (m+1) \binom{m}{k} \binom{n-k}{n-k-m} \quad (8)$$

$$a(n) = (-1)^n \sum_{k=0}^{\lfloor n/2 \rfloor} \sum_{m=0}^{n-2k} (-1)^m (m+1) 2^m \binom{m+k}{k} \quad (9)$$

$$a(n) = \begin{cases} 1 & n = 0 \\ b(n) - b(n-1) & n \geq 1 \end{cases} \quad (10)$$

where

$$b(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} 2^{n-2k} (n-k+1) \binom{n-k}{k} \quad (11)$$

$$b(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} 2^{n-2k} (k+1) \binom{n-k+1}{n-2k} \quad (12)$$

$$b(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} 2^k (k+1) \binom{n+3}{n-2k} \quad (13)$$

$$b(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} 2^{n-2k} (n-2k+1) \binom{n-k+1}{k} \quad (14)$$

$$\sum_{k=0}^n a(k) = \sum_{k=0}^{\lfloor n/2 \rfloor} (n-k+1) 2^{n-2k} \binom{n-k}{k} \quad (15)$$

$$\sum_{k=0}^n a(k) = \quad (16)$$

$$\frac{1}{16} ((8-5\sqrt{2})(1-\sqrt{2})^n + (8+5\sqrt{2})(1+\sqrt{2})^n + (6-4\sqrt{2})n(1-\sqrt{2})^n + (6+4\sqrt{2})n(1+\sqrt{2})^n)$$

Linear recurrence for $A(n) = a(2n)$:

$$A(n) = 12A(n-1) - 38A(n-2) + 12A(n-3) - A(n-4) \quad (17)$$

$$A(0) = 1, A(1) = 10, A(2) = 87, A(3) = 676 \quad (18)$$

II. Pi formulas

Recall that

$$\frac{\pi}{4} = 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \frac{1}{9} - \frac{1}{11} + \dots \quad (19)$$

we have

$$\frac{\pi\sqrt{2}}{32} + \frac{\sqrt{3}}{16} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} (\sqrt{3} - \sqrt{2})^{2n+1} a(2n) \quad (20)$$

$$\frac{\pi\sqrt{2}}{48} + \frac{\sqrt{7}}{32} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} (\sqrt{7} - \sqrt{6})^{2n+1} a(2n) \quad (21)$$

$$\frac{\pi\sqrt{2}}{64} + \frac{\sqrt{7+4\sqrt{2}}}{4+4(7+4\sqrt{2})} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} (\sqrt{7+4\sqrt{2}} - \sqrt{2} - 2)^{2n+1} a(2n) \quad (22)$$

$$\frac{\pi\sqrt{2}}{96} + \frac{\sqrt{9-4\sqrt{3}}}{32} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} (\sqrt{15+8\sqrt{3}} - \sqrt{6} - 2\sqrt{2})^{2n+1} a(2n) \quad (23)$$

III. Endnote

for $\alpha = 1 - \sqrt{2 - 2\sqrt{2 - \sqrt{3}}}$ we have

$$\pi = 24 \sum_{n=0}^{\infty} (-1)^n a(n) f(n) \quad (24)$$

where

$$f(n) = \int_0^{\alpha} \frac{x^n(1-x)(1+2x-x^2)}{(1+x)\sqrt{x(2-x)(2+2x-x^2)}} dx \quad (25)$$

for $\beta = 1 - \sqrt{4\sqrt{3} - 6}$ we have

$$\frac{1}{8} + \frac{\pi}{24} = \sum_{n=0}^{\infty} (-1)^n a(n) g(n) \quad (26)$$

where

$$g(n) = \int_0^{\beta} \frac{x^n(1-x)}{(1+x)\sqrt{x(2-x)}} dx \quad (27)$$

for $s = (2 - \sqrt{3})(\sqrt{2} - 1)$ we have

$$\frac{3\sqrt{2} + (2 + \sqrt{2})\pi}{72 + 48\sqrt{2}} = \sum_{n=0}^{\infty} (-1)^n a(n) (\sqrt{2} + 1)^n s^{2n+1} \left(\frac{1}{2n+1} - \frac{2s^2}{2n+3} + \frac{s^4}{2n+5} \right) \quad (28)$$

If ${}_2F_1$ is the Gauss hypergeometric function then

$$\frac{6 + 3\sqrt{2} - \sqrt{2}\pi}{24} = \sum_{n=0}^{\infty} \frac{a(n)(\sqrt{2} + 1)^n (2 - \sqrt{3})^{2n+1}}{2n+1} {}_2F_1 \left(-2, n + \frac{1}{2}, n + \frac{3}{2}, (\sqrt{2} + 1)^2 (2 - \sqrt{3})^2 \right) \quad (29)$$

IV. References

1. OEIS: The On-Line Encyclopedia of Integer Sequences. sequences: A000129,A001333,A006645,A008288.
2. Borwein, J., Bailey, D.: Mathematics by experiment, A K Peters Ltd., Natick, MA, 2004. MR 2 033 012.
3. Bajnok, B.: Additive Combinatorics: A Menu of Research Problems, Chapman and Hall/CRC, 2018.
4. Conway, J.H., Guy, R.: The Book of Numbers, Springer Science & Busines Media, 1998.
5. Gould, H.W., Combinatorial Identities, (Morgantown Printing and Binding Co., Morgantown, WV, 1972).
6. Wilf, H.S., generatingfunctionology. Academic Press, 1990.
7. Wolfram, S., Mathematica- A System for Doing Mathematics by Computer. Addison Wesley, 1998.